
**Alter the point setup for this one so you get almost no points if you use a calculator

Division should be given to the nearest decimal point, or in simplified fraction form (no mixed numbers;
we accept 7/5, not 1 ⅖)

1) 58886149 × 960000038=

2) 98047425360 + 58201047=

3) 5555615822263691 - 10474829361=

4) 473690 ÷ 25473= or

5) 204010008 × 2199302=

6) 581030479827 + 58333669075819=
7) 9247381939-4875397302983=-4866149921044
8) 924738/928=

9) 884032*1349=

10) 29580341231232+90000043829451=

11) 29580341231232-90000043829451=
12) 1942058333/902435=

13) 359293*92105361235039485=

14) +10474829361=5555615822263691

15) -184295-902435=



16) 50293012/195583=


